

Palliative Care Awareness Among Advanced Cancer Patients and Their Family Caregivers in Singapore

Semra Ozdemir,^{1,2} PhD, Chetna Malhotra,^{1,2} MBBS, MD, MPH, Irene Teo,^{1,2,3} PhD, Grace MJ Yang,^{1,3} MBBSChir, MA, MRCP, Ravindran Kanesvaran,^{3,4} MD, MRCP, Alethea CP Yee,^{1,3} MBBS, MRCP, Eric Andrew Finkelstein,^{1,2} PhD, MHA; Cost of Medical Care of Patients with Advanced Serious Illness in Singapore (COMPASS) Study Group

Abstract

Introduction: We investigated the awareness of palliative care (PC) services in advanced cancer patients and their family caregivers and whether negative perceptions was a possible barrier to PC utilisation in Singapore. **Materials and Methods:** Patients with stage 4 solid cancer and their caregivers were interviewed between July 2016 and March 2018 at outpatient clinics located in the medical oncology departments of 2 major public hospitals in Singapore. Patients and caregivers were asked whether they were aware of PC services, how they first learned about them, who first recommended PC to the patient, whether the patient had received PC, and reasons for not receiving PC. **Results:** Awareness of PC was lower in patients compared to caregivers (43% vs 53%; $P < 0.01$). The odds of being aware in patients was higher if they had higher education (odds ratio [OR] = 2.927; $P < 0.001$) and higher income (OR = 1.798; $P = 0.005$). Compared to patients, more caregivers reported that a healthcare provider recommended PC to the patient (10% vs 20%; $P < 0.012$). Furthermore, 7% of patients and 15% of caregivers reported that the patient received PC ($P = 0.031$). The most common reasons for not receiving PC reported by patients and caregivers (respectively) were that the patient was still receiving treatment (68% and 78%), it is not time for PC (76% and 59%) and PC would not be of help (18% and 19%). **Conclusion:** Less than half of patients indicated an awareness of PC. Our findings suggest that efforts should be made to increase awareness of PC and promote its acceptance in cancer patients and their family caregivers in Singapore.

Ann Acad Med Singapore 2019;48:241-6

Key words: Decision-makers, End-of-life, Perceptions

Introduction

Cancer is the primary cause of death in Singapore and accounts for 30% of all deaths.¹ Patients with advanced cancer suffer from many problems including pain, side-effects from treatment and psychological distress.^{2,3} To respond to the needs of these patients, international and local organisations recommend that palliative care (PC) be provided early in the course of illness and integrated with standard oncology care.^{4,5} The goal of PC is to improve the quality of life of patients with any life-limiting illness and of their family caregivers by addressing physical, psychosocial and spiritual needs.⁴ Several studies have shown that patients

with advanced cancer who receive early integration of PC have better quality of life and less depression compared to patients who receive standard oncology care.⁶⁻⁸

Despite guidelines, the literature shows that patients lack awareness of PC and have negative perceptions about PC which, in turn, are associated with late or low utilisation of PC services.⁹⁻¹¹ This has been shown to be especially the case for patients with lower education or income.^{12,13} Patients also perceive PC as being an alternative to life-extending treatments—that it is only for those nearing end-of-life¹⁴ and associate it with losing hope.^{9,15} Therefore, one of the goals of the National Strategy for Palliative Care (NSPC

¹Lien Centre for Palliative Care, Duke-NUS Medical School, Singapore

²Programme in Health Services and Systems Research, Duke-NUS Medical School, Singapore

³National Cancer Centre, Singapore, Singapore

⁴Duke-NUS Medical School, Singapore

Address for Correspondence: Dr Semra Ozdemir, Lien Centre for Palliative Care, Duke-NUS Medical School, 8 College Road, Singapore 169857.

Email: semra.ozdemir@duke-nus.edu.sg

2011) in Singapore is to promote public awareness and acceptance of PC services.¹⁶

The NSPC also recommends promoting open communication on PC between healthcare professionals, patients and caregivers.¹⁶ However, in Singapore, family caregivers often assume the role of being the primary decision-makers for patients and of communicating with the treating physician on the patient's behalf, especially when the patient is an elderly parent.¹⁷⁻¹⁹ These caregivers—with the intention to protect the patient—may not discuss PC with their loved one and may ask physicians not to discuss it with the patient fearing that the patient may lose hope.^{20,21} For the same reason, physicians may also not feel comfortable discussing PC with their patients or they may just conform to the wishes of the family.²² The main aim of this study was to investigate the awareness of PC services in patients with advanced cancer and in their family caregivers in Singapore. We hypothesised that patients are less likely than their caregivers to be aware of PC services and that physicians are more likely to discuss PC with caregivers than patients. The secondary aim was to investigate the relationship between patient demographic characteristics and being aware of PC services. We hypothesised that patient education and income levels are significant predictors of PC awareness. Lastly, we also aimed to investigate whether negative perceptions were possible barriers to PC utilisation (and we were expecting this). The findings from this study can be used to develop strategies and interventions to increase awareness and acceptance of PC in patients with advanced cancer and in their family caregivers.

Materials and Methods

Participants and Study Setting

The data used in this study came from the baseline survey of a cohort study called Cost of Medical Care of Patients with Advanced Serious Illness in Singapore (COMPASS). The COMPASS protocol paper provides detailed information on the study design.²³ In brief, the baseline questionnaire was administered between July 2016 and March 2018 at outpatient clinics located in medical oncology departments of 2 major public hospitals in Singapore. Patients who were Singapore citizens or permanent residents, aged at least 21 years and diagnosed with stage 4 solid cancer were identified from their medical records and were approached by trained interviewers. Patients were further screened for adequate functional status for participation by: 1) having an Eastern Cooperative Oncology Group (ECOG) performance status ≤ 2 , and 2) being cognitively intact (determined via medical record documentation or tested via the Abbreviated Mental test for those aged ≥ 60). The inclusion criteria for caregivers included being aged ≥ 21 and being one of the main persons providing care to the patient or ensuring provision of care

or involved in making treatment decisions on behalf of the patient. The study was approved by the SingHealth Centralised Institutional Review Board.

Survey Development

The survey was administered in the preferred language of the participants—English, Mandarin or Malay—which covers 99.5% of language literacy in Singapore. The survey was administered via in-person interviews to the patients while caregivers could opt for completing it on their own. The patient and caregiver questionnaires were developed in consultation with oncologists—first in English and then translated into Mandarin and Malay by professional translators. The questionnaires were finalised after cognitive interviews with 10 participants for each language.

Participants were asked whether they were aware of PC services. Those who were aware about PC were further asked how they first learned about PC services, whether a physician or a healthcare provider had recommended PC to the patient and whether the patient had received PC. Reasons for not receiving PC were documented and this information provided insights on participants' perceptions about PC. The questionnaire also included questions on demographic characteristics.

Analysis

We first present the descriptive statistics on the demographic characteristics of the full sample of patients and caregivers. We then present statistics on PC awareness and if aware, how participants first learned about PC services, whether a healthcare provider recommended PC and whether the patient had received PC. Binomial logistic regression was performed to investigate the relationship between demographic characteristics and patient PC awareness (aware of PC = 1; otherwise, 0). The independent variables of interest were education level (higher than secondary education = 1; otherwise, 0) and income level (higher than median income = 1; otherwise, 0). We controlled for other demographic characteristics, such as gender, age, ethnicity and marital status.

We compared patient statistics with those of caregivers for dyads where both patients and caregivers were recruited using McNemar's test, which is the appropriate version of the chi-square test in the presence of matched pairs. Patients and caregivers who reported not receiving PC at the time of the survey were asked the main reasons for not receiving PC and were allowed to choose from multiple options. Statistical significance was measured at the 5% level. All analyses were conducted in Stata 14 (StataCorp 2015. Stata Statistical Software: Release 14. College Station, TX: StataCorp LP).

Results

The survey was administered to 600 patients and 290 caregivers of these patients. The number of caregivers recruited was lower either because patients did not have a companion caregiver at the time of recruitment or caregivers did not agree to be involved in the study. Table 1 presents the demographic information of the participants.

Table 1. Patient and Caregiver Demographic Characteristics

	Patient (n = 600)	Caregiver (n = 290)
Age, mean (SD)	61 (11)	51 (14)
Female (%)	54	65
Education (%)		
No formal	10	2
Primary and secondary	59	42
Above secondary	31	56
Ethnicity (%)		
Chinese	79	76
Malay/Indian/Others	21	24
Marital status (%)		
Married	73	78
Others	27	22
Employment (%)		
Full-time, part-time	36	60
Others (homemaker, retired, unemployed)	64	40
Median household income (\$)*	3500	3500
Religion (%)		
Buddhist	35	30
Christian	22	23
Muslim	16	18
Others	12	11
No religion/free thinker	15	18
Relationship to patient (%)		
Spouse	NA	47
Child	NA	37
Others	NA	16
Primary cancer site, n (%)		
Respiratory	169 (28)	NA
Gastrointestinal	156 (26)	NA
Breast	96 (16)	NA
Genitourinary	78 (13)	NA
Gynaecological	53 (9)	NA
Others†	48 (8)	NA

NA: Not applicable; SD: Standard deviation

*n = 523 for patients; 72 patients reported not knowing their household income and 5 patients did not answer the question. n = 189 for caregivers; the income question was only asked to those who worked full- or part-time (n = 195). Among these caregivers, 6 reported not knowing their household income and 2 did not answer the question.

†Including head and neck, musculoskeletal, neurological and skin.

The mean age for the patient and caregiver samples was 61 and 51 years, respectively. The majority of the patients and caregivers were female (54% and 65%), Chinese (79% and 76%) and married (73% and 78%). Most patients had only primary or secondary education (59%) and were not in the workforce (64%) while the majority of caregivers had above secondary education (56%) and were full- or part-time employed (60%). The most prevalent religion was Buddhism among patients (35%) and caregivers (30%). Almost half of the caregivers (47%) were spouses of patients. The most common site of the primary cancer was lung (28%), followed by gastrointestinal (26%) and breast (16%).

Almost half of the patients (46%) were aware of PC (Table 2). Among patients who were aware of PC (n = 274), about half (49%) had first heard about it from their family and friends; only 12% had heard from a physician or other healthcare provider. Among those who were aware of PC, only 8% reported that a physician or a healthcare provider had recommended PC and 4% reported receiving PC. As expected, having secondary education or higher (odds ratio [OR] = 2.927; $P < 0.001$) and having higher than median income (OR = 1.798; $P = 0.005$) were significant predictors of PC awareness among patients (Table 3).

As hypothesised, PC awareness was lower among patients compared to caregivers (43% vs 53%; $P < 0.01$) among patient-caregiver dyads (n = 290) (Table 2). Both groups reported family and friends to be the primary source of information on PC (51% vs 40%). Among dyads who were aware of PC (n = 81), compared to patients (10%), more caregivers (20%) reported that a physician or a healthcare provider had recommended PC to the patient ($P = 0.012$). This finding is consistent with our hypothesis. When asked if the patient had received PC, 15% of caregivers reported that the patient had received PC while only 7% of patients stated that they did ($P = 0.031$).

The reason reported for not receiving PC by 68% of patients (n = 263) and 78% of caregivers (n = 69) was that the patient was still receiving treatment (Table 4). The second most cited reason reported by 76% of patients and 59% of caregivers was not believing that it was time for PC. Participants also either reported that PC would not be of help (18% of patients and 19% of caregivers) or that patient's physicians do not think that PC would be of help (7% of patients and 16% of caregivers). A smaller percentage of patients (6%) and caregivers (10%) also reported that getting PC means giving up on life. Study participants also cited other reasons such as PC being expensive (10% for both groups) and not knowing much about PC (8% of patients and 7% of caregivers).

Table 2. Awareness of PC Services

	Full Patient Sample	Dyad		P Value
		Patient	Caregiver	
Aware of PC services? (%)	n = 600	n = 290		P < 0.001
Yes	46	43	53	
No	49	52	34	
Not sure	5	5	10	
(If aware) How first learned about PC services? (%)	n = 274	n = 81		P = 0.090
Physician or other healthcare provider	12	19	28	
Family/friends	49	51	40	
Personal research	6	2	5	
Internet/media	29	23	20	
Others	4	5	7	
(If aware) Physician or healthcare provider recommended PC? (%)	n = 274	n = 81		P = 0.012
Yes	8	10	20	
No	92	90	78	
Not sure	<1	0	2	
Whether patient received PC? (%)	n = 274	n = 81		P = 0.031
Yes	4	7	15	
No	96	93	85	

PC: Palliative care

Table 3. Odds Ratios for Patients Being Aware of PC as a Function of Demographic Characteristics (n = 523)*

	Odds Ratio (SE)	P Value
Higher education (higher than secondary education)	2.927 (0.652)	0.000
Male	0.833 (0.164)	0.354
Age	1.005 (0.010)	0.585
Chinese ethnicity	0.729 (0.168)	0.172
Married	0.739 (0.161)	0.165
Higher income (higher than median income)	1.798 (0.372)	0.005
Having comorbidities (other than cancer)	1.017 (0.230)	0.942
Constant	0.656 (0.406)	0.496

PC: Palliative care; SE: Standard error

*n = 523 for patients; 72 patients reported not knowing their household income and 5 patients did not answer the question.

Table 4. Reasons for Patients Not Receiving PC at the Time of the Survey

	Patient, % (n = 263)	Caregiver, % (n = 69)
Patient is still receiving treatment for patient's disease	68	78
Do not believe it's time for hospice palliative care	76	59
Do not think that hospice palliative care would be of help to the patient	18	19
Patient's doctors do not think that hospice palliative care would be of help to the patient	7	16
Getting hospice palliative care will be like giving up on life	6	10
It is expensive	10	10
Do not know much about it	8	7

PC: Palliative care

Discussion

Less than half of patients in our sample reported being aware of PC and the odds of awareness was higher among those with higher income and education levels. Our findings also show that compared to patients, more caregivers reported that they first learned about PC from a healthcare provider. In addition, more caregivers reported that a physician or a healthcare provider recommended PC to the patient and that the patient received PC services. Our study also revealed negative perceptions of PC in cancer patients and their caregivers.

Awareness of PC services among patients in our study was 46%. This is lower than other developed countries such as the United States where PC awareness was reported to be as high as 77% in outpatient cancer patients.¹⁰ The odds of PC awareness in patients was higher if they had higher education and income. This is consistent with findings from previous studies which showed that education and income levels are positively correlated with PC awareness.^{10,12,13}

We also found that, among the patient-caregiver dyads who were aware of PC, only 10% of patients and 20% of

caregivers reported that a physician or a healthcare provider recommended PC. Considering the international guidelines on integrating PC into standard care early in the course of advanced cancer, most patients in our sample should have been recommended PC. The low rates might be due to factors related to healthcare providers and the healthcare system.²⁴ Referrers may be concerned about limited availability of PC specialist teams and other PC resources or they may be unsure on when it is appropriate to refer a patient to a PC specialist team. In addition, not all physicians are equipped with communication skills to discuss PC referral with patients.²⁵ It is also possible that primary referring oncologists may have negative perceptions about PC or on the roles of the PC team.^{26,27}

Our findings also show that compared to patients, more caregivers reported that they first learned about PC from a healthcare provider, that a physician or a healthcare provider recommended PC to the patient and that the patient had received PC services. These findings suggest that healthcare providers are more likely to talk to caregivers than patients about PC. Although providers may feel more comfortable discussing this topic with caregivers than patients, patients may have different treatment preferences from their caregivers²⁸ and should be informed of the available care options.

Our study revealed perceptions of cancer patients and their caregivers about PC. The majority of patients and caregivers reported “patient still receiving treatment” as a reason for the patient not receiving PC. This shows that participants perceive that patients have to stop treatment to receive PC. In addition, about 20% of patients and caregivers reported that PC would not be of help. Similar findings were found in a survey of the general public by Lien Foundation. When asked why participants would not consider PC for a life-threatening illness, 26% of respondents reported that they would focus on curing the illness and 35% reported that there is no need or no use for PC.²⁹ The negative perception of PC in patients and the general population suggests demand-side barriers to PC utilisation in Singapore.

The cost of PC services also seems to be a concern for about 10% of patients and caregivers. Although patients and their families can use their MediSave (a Singapore national medical savings scheme that sets aside part of an individual’s income to help pay for certain medical expenses) to pay for PC services (and up to 80% subsidies are provided for PC-related services), some families may not be able to afford PC services or may not be aware of the available subsidies. Consulting patients and caregivers on financial matters and increasing government subsidies for PC may help to alleviate this problem.

Our study is not free of limitations. The rates of PC recommendation and utilisation might be underreported in the survey because some patients and caregivers might not know what PC entails although the patient was referred to and/or received PC services. This might especially be the case if PC services were provided by the oncology team.

PC in Singapore started as charities initiated by volunteers which developed into professional services in less than 10 years.³⁰ It is now recognised as an essential part of the healthcare system and has been offered in hospitals, hospices and at home for over 30 years.¹⁶ National guidelines recommend making PC as part of standard care for those who are likely to die within the next 12 months.⁵ In order to achieve these objectives, efforts should be made to increase awareness of PC services in Singapore in order to be on par with other developed countries,³¹ and to understand why patients and their caregivers think PC are not helpful. Future research should be conducted to understand the perceptions of referring physicians about PC, whether there is a need for training programmes to help healthcare providers assess when to refer patients to PC and develop skills and confidence to discuss PC-related issues more comfortably with their patients.³² Further research can also explore other potential barriers from the healthcare system’s perspective.

Conclusion

Our findings suggest that efforts should be made to increase awareness of PC and to promote its acceptance among cancer patients and their family caregivers in Singapore. Based on our findings, awareness campaigns should focus on explaining how PC services can help patients and their families throughout the course of advanced cancer—not just at end-of-life—and that PC can be received with standard care.

Acknowledgement

The authors would like to thank their data collection team at Lien Centre for Palliative Care for their contributions to the study and the participants for giving their time and thoughts in completing their survey. They would also like to thank Ms Audrey Jia Jia Lee for her help with the literature review for the manuscript. The study was funded by Singapore Millennium Foundation (2015-SMF-0003) and Lien Centre for Palliative Care (LCPC-IN14-0003). The trial was prospectively registered on 9 June 2016 (NCT02850640).

REFERENCES

- Ministry of Health, Singapore. Principal Causes of Death, 2017. Available at: https://www.moh.gov.sg/content/moh_web/home/statistics/Health_Facts_Singapore/Principal_Causes_of_Death.html. Accessed on 1 May 2018.
- Cheng KK, Lee DT. Effects of pain, fatigue, insomnia, and mood disturbance on functional status and quality of life of elderly patients with cancer. *Crit Rev Oncol Hematol* 2011;78:127-37.
- Hopwood P, Stephens RJ. Depression in patients with lung cancer: prevalence and risk factors derived from quality-of-life data. *J Clin Oncol* 2000;18:893-903.
- Sepúlveda C, Marlin A, Yoshida T, Ullrich A. Palliative care: the World Health Organization's global perspective. *J Pain Symptom Manage* 2002;24:91-6.
- National Palliative Care Guidelines Implementation Steering Committee. National Guidelines for Palliative Care And Interpretation Guide, 2015. Available at: <https://www.singaporehospice.org.sg/en/wp-content/uploads/2018/05/National-Guidelines-for-Palliative-Care-and-Interpretation-Guide-1st-Edition-Dec-2015.pdf>. Accessed on 1 May 2018.
- Temel JS, Greer JA, Muzikansky A, Gallagher ER, Admane S, Jackson VA, et al. Early palliative care for patients with metastatic non-small cell lung cancer. *N Engl J Med* 2010;363:733-42.
- Zimmermann C, Swami N, Krzyzanowska M, Hannon B, Leighl N, Oza A, et al. Early palliative care for patients with advanced cancer: a cluster-randomised controlled trial. *Lancet* 2014;383:1721-30.
- Bakitas M, Lyons KD, Hegel MT, Balan S, Brokaw FC, Seville J, et al. Effects of a palliative care intervention on clinical outcomes in patients with advanced cancer: the Project ENABLE II randomized controlled trial. *JAMA* 2009;302:741-9.
- Zimmermann C, Swami N, Krzyzanowska M, Leighl N, Rydall A, Rodin G, et al. Perceptions of palliative care among patients with advanced cancer and their caregivers. *CMAJ* 2016;188:E217-27.
- Kumar P, Casarett D, Corcoran A, Desai K, Li Q, Chen J, et al. Utilization of supportive and palliative care services among oncology outpatients at one academic cancer center: determinants of use and barriers to access. *J Palliat Med* 2012;15:923-30.
- Wentlandt K, Krzyzanowska MK, Swami N, Rodin GM, Le LW, Zimmermann C. Referral practices of oncologists to specialized palliative care. *J Clin Oncol* 2012;30:4380-6.
- Hsu CP, Chen HW, Lee SY, Tsou MT. Knowledge and attitude toward hospice palliative care among community-dwelling aged Taiwanese – analysis of related factors. *Int J Gerontol* 2012;6:105-11.
- Koffman J, Burke G, Dias A, Raval B, Byrne J, Gonzales J, et al. Demographic factors and awareness of palliative care and related services. *Palliat Med* 2007;21:145-53.
- Jablonski A. Palliative care: misconceptions that limit access for patients with chronic renal disease. *Semin Dial* 2008;21:206-9.
- LeBlanc TW, El-Jawahri A. When and why should patients with hematologic malignancies see a palliative care specialist? *Hematology Am Soc Hematol Educ Program* 2015;2015:471-8.
- Lien Centre for Palliative Care, Duke-NUS Graduate Medical School. Report on the National Strategy for Palliative Care, 2011. Available at: https://www.singaporehospice.org.sg/en/wp-content/uploads/2018/08/Report_on_National_Strategy_for_Palliative_Care-5Jan2012.pdf. Accessed on 1 April 2018.
- Fielding R, Wong L, Ko L. Strategies of information disclosure to Chinese cancer patients in an Asian community. *Psychooncology* 1998;7:240-51.
- Orona CJ, Koenig BA, Davis AJ. Cultural aspects of nondisclosure. *Camb Q Healthc Ethics* 1994;3:338-46.
- Altiero T, Otis-Green S. *Oxford Textbook of Palliative Social Work*. New York: Oxford University Press; 2011.
- Tan T, Teo F, Wong K, Lim H. Cancer: to tell or not to tell? *Singapore Med J* 1993;34:202-3.
- Low JA, Kiow SL, Main N, Luan KK, Sun PW, Lim M. Reducing collusion between family members and clinicians of patients referred to the palliative care team. *Perm J* 2009;13:11-5.
- Fallowfield LJ, Jenkins VA, Beveridge H. Truth may hurt but deceit hurts more: communication in palliative care. *Palliat Med* 2002;16:297-303.
- Teo I, Singh R, Malhotra C, Ozdemir S, Dent RA, Kumarakulasinghe NB, et al. Cost of medical care of patients with advanced serious illness in Singapore (COMPASS): prospective cohort study protocol. *BMC Cancer* 2018;18:459.
- Murray SA, Kok JY. Internationally, it is time to bridge the gap between primary and secondary healthcare services for the dying. *Ann Acad Med Singapore* 2008;37:142-4.
- Villalobos M, Siegle A, Hagelskamp L, Jung C, Thomas M. Communication along milestones in lung cancer patients with advanced disease. *Oncol Res Treat* 2019;42:41-6.
- Gidwani R, Nevedal A, Patel M, Blayney DW, Timko C, Ramchandran K, et al. The appropriate provision of primary versus specialist palliative care to cancer patients: oncologists' perspectives. *J Palliat Med* 2017;20:395-403.
- Ramchandran K, Tribett E, Dietrich B, Von Roenn J. Integrating palliative care into oncology: a way forward. *Cancer Control* 2015;22:386-95.
- Malhotra C, Farooqui MA, Kanesvaran R, Bilger M, Finkelstein E. Comparison of preferences for end-of-life care among patients with advanced cancer and their caregivers: a discrete choice experiment. *Palliat Med* 2015;29:842-50.
- Lien Foundation. Survey on Death Attitudes in Singapore. Available at: http://lienfoundation.org/sites/default/files/Gen%20Pop%20Findings%20Report%20-%20Full%20REPORT%20%28Website%29_0.pdf. Accessed on 1 June 2018.
- Goh CR. Singapore: status of cancer pain and palliative care. *J Pain Symptom Manage* 1996;12:130-2.
- Neo P, Poon MC, Peh TY, Ong SY, Koo WH, Santoso U, et al. Improvements in end-of-life care with a protocol-based pathway for cancer patients dying in a Singapore hospital. *Ann Acad Med Singapore* 2012;41:483-93.
- Finkelstein E, Malhotra C, Yee A. Improving the end-of-life experience in Singapore: building capacity in palliative care education and research. *Ann Acad Med Singapore* 2014;43:1-2.